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Which of the following is not a subject-matter of
Physical Geography ?

(A) Lithosphere/Geomorphology

(B) Atmosphere

(C) Hydrosphere

(D) Demosphere

In which era Dinosaurs were developed ?

(A) Palaeozoic

(B) Mesozoic

(C) Cenozoic

(D) Cryptozoic

Which of the following planets is known as
'Morning Star' ?

(A) Mercury

(B) Venus

(C) Mars

(D) Saturn

Which is the chief heavenly body of solar
system ?

(A) Earth

(B) Sun

(C) Vesta

(D) Trumpler

In order of their distance from the sun, which of the

following planets lie between Mars and Neptune ?
(A) Earth

(B) Mercury

(C) Saturn

(D) Venus

1.

3.

4.

5.

(3)

Fet & & se-ar s T H e
T e ?
(A) RIS

(D) STTHYSA

g7

(A) 3o
(B) TP
(C) et
(D) <+

AR TUed & YOH T fUve dM-am
g7

(D) sFa=Y

o & T g 3w §, Frefiad m
q B WA 0 qe9T b 7 R § 7

(A) gt

(B) 38

(C) i

(D) b
[PTO]



6. 'Supernovais :
(A) AnAsteroid
(B) ABlack Hole
(C) AComet

(D) ADying Star

7. Which of the following is known as most dense

layer of the earth ?
(A) Crust
(B) Mantle
(C) Core
(D) Magma
8. The earth completes one rotation on its axis :
(A) In 24 hours
(B) In 25 hours
(C) In 23 hours 58 minutes

(D) In 23 hours 56 minutes and 4 seconds

9. Which elements are abundant in the formation

of interior layer of the earth ?
(A) Silica and Aluminium
(B) Nickel and Iron (Fe)

(C) Silica and Magnesium

(D) Basalt and Silica

10. The density of middle layer (Sima) of the earth is :

(A) 241029
(B) 291047
(C) 10
(D) 116
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1.

12.

13.

14.

15.

Who was the propounder of 'Sliding Continents ~ 11.

Theory' ?

(A) R.A. Daly

(B) J.W. Gregory
(C) Alfred Wegener
(D) Arthur Holmes

Which of the following theories is given by Arthur -~ 12.

Holmes ?

(A) Continental Drift Theory
(B) Convection Current Theory
(C) Sliding Continents Theory

(D) Thermal Contraction Theory

Who among the following used the term Plate ~ 13.

for the first time ?
(A) Tuzo Wilson
(B) Morgan

(C) Alfred Wegener

(D) Lowthian Green

J.H. Pratt was related to : 14,

(A) England
(B) France
(C) India

(D) Germany

The instrument measuring earthquake is called : 15.

(A) Climograph
(B) Seismograph
(C) Hythergraph
(D) Eidograph

GEOG./A110101T-A/8235 (5)

‘Teraig TEeq e @ gfode e
fopar ?

(A) RT. =T
(B) .3=g. I
(C) TS AT
(D) SR B

1 § 9 -ar faerg oM @ X
faar ?

(A) HETEg Yare & R
(B) HaeT ORI &=
(C) HeTEiig Teer & =T
(D) T EHE R

frffad #§ & fhae damem we 9= @
T o ?

(A) gt foreet

(B) ®FA

(C) TS AT

(D) R A=
3.0, gre wErad & ¢
(A) gve |

(B) wiE &

(C) 9Ra |

(D) ST &

TR A Fee §

[PTO]



16.

17.

18.

19.

20.

The age of earth according to Indian Religious  16.

Books is :
(A) 2 Crore years / 200 Million
(B) 2 Billion / 2000 Million years
(C) 2 Million years

(

D) 0.2 Million years

The entire mechanism of the evolution, nature 17.

and motion of plates and resultant reactions is

called :
(A) Plate Tectonics
(B) Plate Boundary
(C) Dodecahedron
(

D) Tetrahedron

In which of the following areas most of the  18.

earthquakes come ?
(A) Circum-Pacific Ocean belt
(B) Mediterranean Sea belt
(C) Atlantic Ocean belt

(

D) Indian Ocean belt

The place situated on the earth's surface, where ~ 19.

earthquake felt first is called :
(A) Epicentre
(B) Centripetal
(C) Earthquake Centre
(

D) None of these

Chief cause of volcanic origin is/are : 20.

(A) Temperature increasement in interior
(B) Origin of Lava

(C) Expansion of Gases

(

D) All of the above
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21.

22.

23.

24.

25.

Which of the following is not a type of volcano ~ 21.

on the basis of periodicity of eruptions ?
(A) Active volcanoes

(B) Strombolian volcanoes

(C) Dormant volcanoes

(D) Extinct volcanoes

Which one of the following is a dormant  22.

volcano ?

(A) Koh Sultan
(B) Pinatubo
(C) Visuvious

(D) Mayon

Topography produced by vulcanicity is : 23.

(A) Craters
(B) Gorges
(C) Canyons
(D) Inselbergs

Which of the following rocks is called primary ~ 24.

rocks ?

(A) Sedimentary rocks
(B) Metamorphic rocks
(C) Horizontal rocks

(D) Igneous rocks

In Peninsular India, the rocks found are : 25.

(A) Igneous rocks
(B) Sedimentary rocks
(C) Metamorphic rocks
(D) Marble rocks
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26.

27.

28.

29.

30.
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Which one of the following is not a sedimentary

rock ?

(A) Slate

(B) Sandstones

(C) Limestones

(D) Conglomerate

Which one of the following is a metamorphic rock ?
(A) Basalt

(B) Granites

(C) Gneiss

(D) Diorite

Original rock of diamond is :
(A) Sandstone

(B) Granites

(C) Coal

(D) Limestone

The connecting plane between two consecutive

beds or layers of sedimentary rocks is called :
(A) Paraconformity

(B) Bedding plane

(C) Cross bedding

(D) Conformity

Which one of the following is not a Igneous rock ?
(A) Basalt

(B) Gabbro

(C) Gneiss

(D) Dolerite
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31.

32.

33.

34.

35.

Which of the following is not a characteristic of ~ 31.

Geosynclines ?

(A) Formed by strong compressive forces

(B) Long, narrow and shallow depressions of water
(C) Gradual sedimentation and subsidence

(D) Mobile zones of water

Which of the following is not included in 32

orogenetic movements ?
(A) Folding

(B) Faulting

(C) Wraping

(D) Subsiding

The upfolded rock strata in arch-like landformis  33.

called :
(A) Folding
(B) Anticline
(C) Syncline
(D) Dip

Which of the following is a resultant of Rift ~ 34.

Valley ?

(A) Faulting
(B) Folding
(C) Wraping
(D) Nappe

Folds are developed by : 35.

(A) Expansion
(B) Tension
(C) Contraction

(D) Erosion
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36.  Which of the following is not related to  36.  f=foifad & & FF-A1 A=k TUT FHI

mechanical weathering agents ? et =7Ef ® ?
(A) Frost (A) X
(B) Insolation (B) @™
(C) Vegetation (C) aeafey
(D) Moisture and Water (D) ST=dT TF ST
37.  Chemical weathering agents is/are : 37. EHENe oTEd SRl & /% ¢
(A) Oxygen (A) SRS
(B) Carbon dioxide (B) FE EESiTRS
(C) Hydrogen (C) =g
(D) All of the above (D) ST &+l
38. Maximum effect of oxidation is : 38. ARSI 1 Talied T B © ¢
(A) On Iron Minerals (A) dre @fvett o
(B) On Granite Rocks (B) IMET =gl W
(C) On Limestone (C) T TeX WX
(D) On Basic Igneous Rocks (D) I M= =g WX
39.  Who propounded the concept of cycle of 39.  STURGT THp Pl GHIT H UG [hes
erosion ? foar ?
(A) James Hutton (A) = &L
(B) Gilbert (B) e
(C) W.M. Davis (C) s=g.1H. sfa|
(D) W. Penck (D) S=q. T
40. Who said that, 'A landscape is the result of ~ 40. & el o1 &, ‘TH TPl W=, TohH
structure, process and stage' ? Tg Saer H ufawd & °
(A) W.M. Davis (A) s=g.w. |
(B) W. Penck (B) S=4. T
(C) R.J. Chorley (C) SRS, O
(D) None of these (D) &9 & H1 &

GEOG./A110101T-A/8235 ( 10)



41.

42.

43.

44,

45.
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In which stage of cycle of erosion, vertical — 41.

erosion does not take place ?
(A) Old age
(B) Mature age
(C) Youth age
(

D) Child age

How many stages are there in the cycle of 42

erosion as propounded by W.M. Davis ?
(A) One
(B) Two
(C) Three
(

D) Four

Which of the following is not a sequent drainage ~ 43.

system ?
(A) Subsequent streams
(B) Antecedent streams
(C) Obsequent streams
(

D) Resequent streams

The origin and development of streams through 44,

time is called :
(A) Drainage Pattern

(B) Dendritic Drainage Pattern
(C) Pinnate Drainage Pattern
(

D) Drainage System

Which of the following rivers is not an example ~ 45.

of antecedent streams ?
(A) Sutlej river
(B) Ganga river
(C) Asan river
(D) Gandak river
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46.

47.

48.

49.

50.
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Mount Abu region is a best example of : 46.

(A) Trellised Drainage pattern
(B) Dendritic Drainage pattern
(C) Rectangular Drainage pattern

(D) Radial Drainage pattern

Which of the following landforms is not related ~ 47.

to the works of river ?
(A) Waterfall

(B) Barkhan

(C) Oxbow lake

(D) V-shaped valley

Landform formed in the old age of river is  48.

called :

(A) Delta
(B) Gorge
(C) Canyons

(D) Waterfall

The world famous canyon is formed by : 49.

(A) Nile River
(B) Amazon River
(C) Indus River

(D) Colorado River

Dudhsagar waterfall is located in : 50.

(A) Tamil Nadu
(B) Madhya Pradesh
(C) Rajasthan

(D) Goa
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51.

52.

53.

54.

95.
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Mississippi delta is a best example of : 51.

(A) Bird-foot Delta
(B) Abandoned Delta
(C) Blocked Delta

(D) Estuarine Delta

Which of the following is not a Meander ? 52.

(A) Simple Meander
(B) Ideal Meander
(C) Misfit Meander

(D) Incised Meander

The formation of Inselberg is due to : 53.

(A) Erosion by Wind
(B) Deposition by Wind
(C) Transportation by Wind

(D) None of these

Which of the following landforms is not formed ~ 54.

by wind ?

(A) Zeugen
(B) Yardang
(C) Sand dunes

(D) Beaches

Loess is a landform developed by : 55.

(A) Wind deposition
(B) Wind erosion
(C) River erosion

(D) Glacier deposition

(13)

fffrdl Seer o oTeET SR ©
(A) TEf-UoT Sl

(B) URegRi Seal &

(C) eIy Sl il

(D) SETCTEHEl Sel &
frforad & & SN o faad 78 © ?
(A) am faed

(B) oSt forerd

(C) v forerd

(D) SFer:apfci fererd

AT 1 H TgE BRT 8§
(A) Ta BRI STOREH

(B) Ta &I &9

(C) 9ae I YRas

(D) 3 | g &

fr=fofae = =0t & § S9-91 997 &}
foftfq =Tét foram <rem B 7

[PTO]



56.

57.

58.

59.

60.
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The landforms built by deflation work of wind
is

(A) Sand dune

(B) Deflation Basin

(C) Loess

(D) Pediments

U-shaped valley is formed in :
(A) Karst Region

(B) Flood Region

(C) Glacial Region

(D) Desert Region

Which of the following lakes is not formed by

Glacier ?

(A) Great lake

(B) Grand lake

(C) Wular lake

(D) Naina lake
Cirques is formed by :
(A) River

(B) Wind

(C) Glacier

(D) Underground water

Which of the following landforms is not formed

by Glacial erosion ?
(A) Hanging valley
(B) Horn

(C) Tarn

(D) Drumlin
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61.  Which of the following layers is the uppermost 61,  Frifarad oxat & @ &HH-d1 agavsd &l

atmospheric layer ? T I WA & ?
(A) Toposphere (A) &rvEoEd
(B) Thermosphere (B) dMYHTSH
(C) Mesosphere (C) H=gHuSA
(D) Stratosphere (D) HHAGHTSA
62. Al the weather phenomena occurs in which of ~ 62.  TF&T A ged fr=fwraa agAved @l
the following atmospheric layer ? fpe oxa & gfeq &t € ?
(A) Mesosphere (A) AETHTSA
(B) Toposphere (B) &rwwosd
(C) Stratosphere (C) THAUHTSH
(D) Thermosphere (D) dMIHET
63.  Which gas has a maximum percentage in the ~ 63.  aigwvesa H fRE T @ Hfaw SR
atmosphere ? g7
(A) Carbon (A) &
(B) Nitrogen (B) g
(C) Oxygen (C) ferdrST
(D) Hydrogen (D) G
64.  Thequantity of water vapour in the atmosphere ~ 64.  ATYHISH A F@AISY HI AHAT Bl
is : L
A) 1% (A) 1%
(B) 2% (B) 2%
(C) 1-5% (C) 1-5%
(D) 5-10% (D) 5-10%
65.  The ozone layer lies in : 65. 3NN URG Ul ST ®
(A) Troposphere (A) & §
(B) Mesosphere (B) AeAwUSq H
(C) Ionosphere (C) smaTved H
(D) Stratosphere (D) FHaTHTEd H

GEOG./A110101T-A/8235 (15) [PTO]



66.

67.

68.

69.

70.
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The height of the ozone layer above the surface  66.

of the earth is :
(A) 15-35km.
(B) 40-50 km.
(C) 5-10 km.

(D) 50-60 km.

Wireless communication is reflected to the 67.

earth's surface by :
(A) Troposphere
(B) Stratosphere
(C) Tonosphere

(D) Exosphere

The distance from the earth to sunis : 68.

(A) About 93 million miles
(B) About 100 million miles
(C) About 150 million miles

(D) About 50 million miles

Which one of the following reflects more sunlight ~ 69.

as compared to the three ?

(A) Sand desert

(B) Paddy cropland

(C) Land covered with fresh snow

(D) Prairie land

Energy comes on earth is called : 70.

(A) Solar Radiation

(B) Insolation

(C) Terrestrial Radiation

(D) None of these
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71. Air pressure is represented on map by :

(A) Isotherm lines
(B) Isobar lines
(C) Isolines

(D) None of these

72. What will be air pressure if temperature is high ? 72.

(A) Low
(B) High
(C) Moderate

(D) Veryhigh

73. The Tornadoes are very strong tropical  73.

cyclones originating in :
(A) Caribbean Sea
(B) China Sea
(C) Arabian Sea
(D) Black Sea
74. Air pressure is lowest in :
(A) Winter season
(B) Spring season
(C) Autumn season
(D) Summer season
75. Horse latitude is extending between :
A) 5-10°
(B) 25-30°
(C) 60°-65°

(D) None of these

GEOG./A110101T-A/8235
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76.

7.

78.

79.

80.
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Harmattan is a local wind of : 76.

(A) Northern India
(B) Switzerland
(C) Eastern Sahara
(D) Alps Mountain

Name the wind which changes its 77.

direction according to the season :
(A) Monsoon

(B) Chinook

(C) Loo

(D) Mistral

The circulation of Jet stream is : 78.

(A) From East to West
(B) From North to South
(C) From West to East
(D) From South to North

Which one of the following streams is notatype ~ 79.

of Jet stream ?

(A) Polar front Jet stream

(B) Subtropical westerly Jet stream
(C) Tropical easterly Jet stream

(D) Temperate northerly Jet stream

Which of the following air masses is not a  80.

principal type according to their location ?
(A) Continental polar air mass

(B) Equatorial air mass

(C) Maritime polar air mass

(D) Continental tropical air mass

(18)

T Uh WM Ta ¢
(A) T IR H
(B) Reeomaws
(C) ydi TerT
(D) STH T&d H

SH ET H A TARC ST AT & TR
O faem Tod I ©

St TH % 9418 o ©

(A) gd @ uf=m & AR

(B) ITX & afRT il AR

(C) uiR=™ & & &l AR

(D) ERIT § IAX & AR

frfoiied & & 9 & Sic & B 6K
T B ?

(A) g ardEr e &M

(B) IUIThies=HIa TgdT Wi &M

(C) ST &t S &H

(D) dfidrsT ST Sie &M

frforad ag TRE § § @9 sERefd &
STIER a1g TR & T@ THR T&l & 7
(A) FeTardtE g arg

(B) fagamteia arg

(C) WFT{™ gt arg

(D) HeTEliia Iwiehesdia arg i



81.

82.

83.

84.

85.
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Tropical cyclones in Japan are called : 81.

(A) Taifu
(B) Baguio
(C) Tornado

(D) Hurricane

Tropical cyclones in China are locally  82.

called :

(A) Storm surge
(B) Hurricane
(C) Tornado

(D) Typhoon

The higher temperature in the CBD or city center ~ 83.

is called :

(A) Warm Island
(B) Cold Island
(C) HeatIsland

(D) Snow Island

Cirrus clouds are found : 84.

(A) Between 0-2500 m. height

(B) Between 2500-6000 m. height
(C) Between 6000-20000 m. height
(D) Above 20000 m. height

Which one of the following is not a type of  85.

rainfall ?

(A) Convectional Rainfall

(B) Orographic Rainfall

(C) Cyclonic Rainfall

(D) Continental Rainfall

(19)

SN § ST =hald &l Hel S §

(A) =R
(B) STTgat

N H STHCEE TehaTd Sl I WY 9T
el T B

(A) Fedl qoH

WAE. I TR » b5 7 R I
AT B HET Il §

(A) ™ g

(B) sfid 2w

(C) I=T &

(D) & 2w

TETT e 9 ST ©

(A) 0-2500 . H=E & A

(B) 2500-6000 Hi. HerE & HeA

(C) 6000-20000 Ht. HeaTE & HeA
(D) 20000 H. § s FHeme W

frfofad & @ @9 T a9 & YER Tol
g7

(A) Gae-ig STast
(B) wdd STast
(C) TEpaTY STast

(D) HeTEq™ STeast
[PT.O.]



86.

87.

88.

89.

90.
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India gets maximum rainfall mainly from : 86.

(A) North-East Monsoon
(B) Retreating Monsoon
(C) South-West Monsoon

(D) Convectional Rainfall

Among the following places which one gets the ~ 87.

least rainfall ?
(A) Leh

(B) Bikaner
(C) Jaisalmer

(D) Barmer

The average depth of water over continental ~ 88.

slope varies between :
(A) 200 m. to 2000 m.
(B) 0 m.to200 m.

(C) 2000 m. to 6000 m.
(D) 6000 m. to 10000 m.

Which of the following trenches is deepest in  89.

the world ?
(A) Tonga
(B) Swire
(C) Puerto Rico
(D) Challenger

The salinity of sea water is directly/positively ~ 90.

related to :

(A) Temperature

(B) Sea water density
(C) Sea water pressure

(D) None of these
(20)

IR & Jgea: Faifyes aut ek @ ¢

(®) Sed-gdt A |

(B) redt AFTEA &

(C) wfil-uf¥erft qFET &

(D) HaBsa Stwaw &

frfafad et & & P9 999 B9 awt o
HAT & 7

(A) 7@

(D) AT

TRTENE He UX ST &l SAd TN et
g

(A) 200 5. & 2000 5. & wex

(B) 0. | 200 . & HH

(C) 2000 Hr. & 6000 Hl. & HH

(D) 6000 5. & 10000 F. & HH

frrfaied HemriE Tt § ¥ $H g &
Y Teq T B ?

(A) <

(B) @R

(C) Uit Rt

(D) TR

AOE S & SO B e/ FHRIH
T B ©

(A) a9 |

(B) ®FRE a7 &

(C) OFRY &= &

(D) &7 & &3 eI



91.

92.

93.

94.

95.

Where is Great Salt Lake located ?
(A) USA.
(B) India
(C) China

(D) Turkey

Which of the following is a cold current of the ~ 92.

South Atlantic Ocean ?

(A) Canary current

(B) Kuroshio current

(C) Benguela current

(D) Gulfstream current
Sargasso Sea is located in :
(A) South Atlantic Ocean
(B) North Atlantic Ocean
(C) Mediterranean Sea

(D) Pacific Ocean

Which of the following is a warm current ?
(A) Falkland current

(B) Brazil current

(C) Labrador current

(D) Canary current

Progressive Wave Theory is propounded by :

(A) Laplace
(B) R.A. Harris
(C) William Whewell

(D) G.B.Airy

GEOG./A110101T-A/8235

91.

93.

94.

95.

(21)

frfafad & @ P9 T RO STETEE
P UL AT B ?

(A) F 4R
(B) RN &R
(C) uaT &
(D) THEA T
O A STaRed © ¢
(A) Rl sTreweErR |
(B) ST STEHEEFR |
(C) qHemErR |
(D) JSITT HEEFR |
frfrad & | ®F T T TqER o 7
(A) BERIS R
BEEISER
(C) TEER &R
(D) HN &R
T TR ST 7 SicrdresT fedm T e
(A) ST ER
(B) 9IX.T. eRA am
(C) fafer™ e &
(D) Sir.dl. TId &}
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96.

97.

98.

99.

100.
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The Great Barrier Reef of corals is located in:  96.
(A) Indian Ocean

B
(C
(D

) Pacific Ocean
) Atlantic Ocean
) Arctic Ocean

Which one of the following is not a Biotic ~ 97.
Component ?

(A) Plant

(B) Animal

(C) Soil

(D) Micro-organisms

A life supporting layer which surrounds the earth ~ 98.
and makes possibility of plants and animal life

is called :
A
B

Biosphere

— =

(
(B) Geosphere

(C) Atmosphere

(D) Hydrosphere

Ecology is a science which studies  99.
interrelationships :

A
B) Among biotic components

C) Both (A) and (B)

Between Abiotic and Biotic components

—

(
(
(
(0

) None of the above

Which one of the following is not a tropical ~ 100.

biome ?

A) Tropical Forest

C) Desert

(A)
(B) Savanna
()
(D) Alpine Tundra

(22)

yaratay @ I SRex dw oafed R -

(A) &< "eErR |

(B) ¥aI=T HETENX |

(C) FEHEEFR H

D) SThfes HeErR H

frefafa & & @9 & Sfos daes el
g7

(A) e

(B) 5

(C) 7

(D) el

T Siige qeldd Td o &l & IRl %
fordl & foret urey e Sgetl e At
%, IH el A ©

(A) Saved
(B) s
(C) argHuS
(D) STeHvS
TR T GEE B S s &
AT BT ©

(A) Fifas Td Sifa qeHl & e

(B) Sifass Tet & =

(C) 3l (A) &TX (B)

(D) SUgeH | | #iE T

frfarad & & &9 6 Iomhead aam
T B ?

(A) SRS a

(B) HamT

(C) e

(D) ST gos
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4, Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

1. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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